118-039( 8-282) (1/1)

118-039

cm

10|20

10({20|30
b 10 20 30 4 50 60
F | o.50 0.5 =
E AT =
E VA 3
E ANAAR =
A 15 1 13 =
AAAAN == 7 7|7 =

A\VAVAVAVAY 12 1 9 31| 2.9

NN 1.46
VAVAYAYAY]
VO30
AANAN 12:15 1
VAVAVAVAY]
ANANAN
(VAVAVAVAY] 2.41
NN

N~
o~
o~ -
9w

(=N

~

(RN

SNw

w
/ | —e—1—o
PLLILLLL

2.8

s

5~
(AN
ISR

IAYAVAVAYA 1
\YAVAVAVAY] 3.45
IAVAVAYAYAY
A\YAVAVAVAY
NNANN 4.15
(YAYAYAYAY]
WYAYAYA
gV VYV 135

o . ; \\‘\\s E
—~z_ /g6 3] 2
= b 3 E
BB (Y / =
0|6 16 [93.9 :::E; E
631 | — 3
7.15 6 =
7 =
2225 =
785 3
8.15 12 =
/

50
10.15] 7 ! =
10.15] 7 7 | 214 N =
10.22 3
13 50 =
11.15 / / =
F=2ta7 | 2 12 | 129 —N 3
127 =
50 =
/
12-15) 59 10 | 15 RN E
2.5
50 50 =
/ / =
113.15| ¢ 6 | 250 N
13.21 =
50 50 =
14.15| £ / =
14.15] 7 7 | 214 —N =
4.22 3
20 | 50 —
15.15 20 | 5 =
10|20 | 8 |28 |53.4 - =
15.43 =
_____ 615 32 50 =
S l16.15| / /
..... 89 19 |78. AN




